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1. The assumption that enables accounting to quantify (measure) economic events is the
A. economic entity assumption. B. cost principle.
C. historical cost principle. D. monetary unit assumption.

2. Retained earnings at the end of the period is equal to
A. retained earnings at the beginning of the period plus net income minus liabilities.
B. retained earnings at the beginning of the period plus net income minus dividends.

C. net income. D. assets plus liabilities.

3. Which of the following accounts is reported in the equity section of the statement of financial position?
A. Dividends B . Share capital-ordinary C. Revenues D. All of these answer choices are correct.

4. The revenue recognition principle dictates that revenue should be recognized in the accounting records
A. when cash is received. B . when the performance obligation is satisfied.
C. at the end of the month. D . in the period that income taxes are paid.

5. Under accrual-basis accounting
A. cash must be received before revenue is recognized.
B. net income is calculated by matching cash outflows against cash inflows.
C. events that change a company's financial statements are recognized in the period they occur rather than

in the period in which cash is paid or received.
D. the ledger accounts must be adjusted to reflect a cash basis of accounting before financial statements

are prepared under [FRS.

6. The temporary account used only in the closing process to hold the amounts of revenues and expenses
before the net difference is added or subtracted from the owner's capital account is called the
A. Closing account. B. Nominal account. C. Income Summary account.

D. Balance Column account. E. Contra account.

7. A company purchased $4,500 of merchandise on May 1 with 4. terms of 2/10, n/30. On May 6, it returned
$250 of that merchandise. On May 8, it paid the balance owed for merchandise, taking any discount it is
entitled to. The cash paid on May 8 is

A.$4,500  B. $4,250 C. $4,165 D. $4,160 E. $4,410

8. A company forgot to record accrued and unpaid employee wages of $350,000 at period-end. This

oversight would .
A. Understate net income by $350,000. B. Overstate net income by $350,000. A RE R E e ’
C. Have no effect on net income. D. Overstate assets by $350,000. Exam Printed on 2 si

E. Understate assets by $350,000.
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9. A company purchased machinery for $10,800,000 on January 1, 2011. The machinery has a useful life of
10 years and an estimated residual value of $800,000. What is the dépreciation.expensc on the machinery
for the year ended December 31, 2012, assuming that the double-declining-balance method is used?
A.$2,160,000 B.$3,888,000 C.$1,728,000 D. $2,000,000 E. $1,600,000

10. A plant asset was purchased on January 1 for $50,000 with an estimated residual value of $10,000 at the
end of its useful life. The current year's Depreciation Expense is $5,000 calculated on the straight-line
basis and the balance of the Accumulated Depreciation account at the end of the year is $25,000. The
remaining useful life of the plant asset is
A. 10 years. B. 8 years. C. 5 years. D. 3 years.

11. The current portion of long-term debt should
A. be paid immediatel y. B. be reclassified as a current liability.
C. be classified as a non-current liability. ~ D. not be separated from the long-term portion of debt.

12. Treasury Shares are a(n)
A.contra asset account. B. retained earnings account. C. asset account. D. contra equity account.

13. Which of the following is not a right or preference associated with preference stock?
A. To receive dividends in arrears before ordinary shareholders receive dividends
B. First claim to dividends C. Preference to corporate assets in case of liquidation
D. The right to vote

14. The permanent accounts appear on which financial statement?
A. Statement of Financial Position. B. Income Statement.

C. Retained Earnings Statement.  D. Statement of Cash Flows.

15. Closing entries are journalized and posted
A. before the financial statements are prepared.
B. after the financial statements are prepared.
C. at management's discretion.
D. at the end of each interim accounting period.

16. Blosser Company's goods in transit at December 31 include:

sales made purchases made -
(1) FOB destination (3) FOB destination AR AR
(2) FOB shipping point (4) FOB shipping point | Exam Pr inted on 2 sirt-.c

Which items should be included in Blosser's inventory at December 31?
A.(2)and(3) B .(1)and (4) C.(1)and (3) D. (2) and (4)

17. James Corporation issued 3,000 preference shares with a par value of CHF100 for CHF205 per share.
This transaction will
A. increase total equity by CHF615,000.  B. increase Share Premium-Preference by CHF615,000.
C. decrease Retained Earnings by CHF315,000. D.increase Share Capital-Ordinary by CHF315,000.
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18. Graham Company uses a periodic inventory system. Details for the inventory account for the month of

January, 2014 are as follows:

Units Per unit price Total
Balance, 1/1/14 200 $5.00 $1,000
Purchase, 1/15/14 100 5.30 530
Purchase, 1/28/14 100 5.50 550

An end of the month (1/31/14) inventory showed that 120 units were on hand. If the company uses
FIFO, what is the value of the ending inventory?
A. $520 B. $600 C. $656 D. $1,424

19. Caps On Company manufactures sporting goods and clothing. Caps On sold merchandise to Pro Sports
Company on June 5, 2014 for $1,500, terms 2/10, n/30. On June 9, 2014 Pro Sports returns
merchandise worth $100 to Caps On. On June 14, 2014 Caps On receives payment in full from Pro
Sports. Which of the following is true regarding the transaction on June 14, 2014?

A. Caps On receives $1,400 from Pro Sports. B. Caps On receives $1,372 from Pro Sports.
C. Pro Sports will pay $1,470 to Caps On. D. All of these answer choices are correct.

20. Kershaw Bookstore had 1,000 units on hand at January 1, costing €18 each. Purchases and sales during
the month of January were as follows:

Date * Purchases Sales

Jan. 14 750 @ €28
17 500 @ €20
25 500 @ €22
29 _ 500 @ €32

Kershaw does not maintain perpetual inventory records. According to a physical count, 750 units
were on hand at January 31. The cost of the inventory at January 31, under the FIFO method is:
A. €2,000. B. €13,500. C. €15,500. D. €16,000.
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